Senate Finance and Public Administration Legislation CommitteeANSWERS TO OUESTIONS ON NOTICE

Supplementary Budget Estimates 20-24 October 2014

Prime Minister and Cabinet Portfolio

Department/Agency: Department of the Prime Minister and Cabinet

Outcome/Program: Outcome 1: Prime Minister and Cabinet

Topic: Official residences

Senator: Senator the Hon Joe Ludwig **Question reference number:** 63 **Type of question:** Written

Date set by the committee for the return of answer: 5 December 2014

Number of pages: 5

Question:

Since Budget Estimates in June, 2014:

- 1. Provide a list of all formal functions conducted at any of the Official Residences, or for the Prime Minister's office or Prime Minister's Dining Room where it has been used in place of the official residences. Include:
 - 1. The guest list of each function, including if any ministerial staff attended
 - 2. The party or individual who initiated the request for the function
 - 3. The menu, program or list of proceedings of the function
 - 4. A list of drinks consumed at the function
 - 5. a list of any entertainment provided at the event
 - 6. the venue of the event, how it was selected, how it was approved and whether any other venue was considered for the event
 - 7. a total cost for the function, broken down by venue, food, drinks, entertainment or other cost items
- 2. Provide a list of the current wine, beer or other alcoholic beverages in stock or on order at any of the official residences, or venues or offices acting as official residences. Breakdown by item, quantity and cost of each beverage

Answer:

1. Please see table below.

Event	Guest list, the person who initiated the request, the menu, program or proceedings, drinks consumed at the function (parts 1, 2, 3 and 4)	Entertainment provided at the event (part 5)	The venue of the event, how it was selected, how it was approved and whether any other venue was considered (part 6)	Cost (part 7)
Dinner in honour of His Excellency Mr Shinzo Abe, Prime Minister of Japan and Mrs Akie Abe	Please refer to response to question on notice 106	None	Prime Minister's Dining Room, as requested by the Prime Minister. No other venues were considered.	Food \$1260.00 Drinks \$324.00 Staff* \$611.86 Sundries \$51.90
Breakfast on the occasion of the Council of Australian Governments Meeting (COAG)	Please refer to response to question on notice 106	None	Prime Minister's Dining Room, as requested by the Prime Minister. No other venues were considered.	Food \$626.13 Drinks n/a Staff* \$675.48
Luncheon on the occasion of COAG	Please refer to response to question on notice 106	None	Prime Minister's Dining Room, as requested by the Prime Minister. No other venues were considered.	Food \$957.46 Drinks n/a Staff* \$675.48 Sundries \$240.00

^{*} Staff costs reflect the costs for additional casual staff employed for the function

2. Please see tables below as at 30 September 2014

The Prime Minister's dining room (in lieu of The Lodge)

Туре	Number	Value (\$) per bottle at time of acquisition (ex GST)	Total value (\$) (ex GST)
The Silurian Mt Majura 2010	2	30.00	60.00
Arras Brut Elite Sparkling Tasmania	1	27.27	27.27
Mt Horrocks Riesling 2005 Cordon Cut Clare Valley SA **	2	24.50	49.00
Miranda Golden Botrytis 2002 Riverina NSW **	1	14.50	14.50
Kalleske Shiraz VP 2007 Barossa Valley SA **	3	18.45	55.35
Scarborough Late Harvest Semillon 2008 Hunter Valley NSW **	4	15.90	63.60
Hardy's HRB D652 Chardonnay 2011	2	24.45	48.90
Toolangi Yarra Valley 2011 Chardonnay	6	23.21	139.26
Beurrot 2012 Pinot Gris Kooyong Mornington Penisula	2	30.39	60.78
Devil's Lair Margaret River Chardonnary 2012	3	34.35	103.05
Canberra Federation Red 2000 **	2	11.75	23.50
Canberra Federation Red Magnum 2000 **	9	86.36	777.24
Ben Glaetzer Bishop Shiraz 2012 Barossa Valley	2	34.20	68.40
Wynn's Coonawarra Black Label Shiraz 2010	2	25.44	50.88
Glaetzer Bishop Shiraz	4	30.22	120.88
Penfolds Bin 128 Shiraz 2012	2	25.90	51.80
Collector Reserve Shiraz Canberra 2011	4	40.90	163.60
St Hallett Sontag Shiraz 2012	6	18.18	109.08
Wynn's Coonawarra Black Label Shiraz 2012	6	27.27	163.62
Total ** Wines purchased prior to 1 January 2013	63		2150.71

^{**} Wines purchased prior to 1 January 2013

AFP College - nil

Kirribilli House

Туре	Number	Value (\$) per bottle at time of acquisition (ex GST)	Total value (\$) (ex GST)
Croser Sparkling Non Vintage	11	18.18	199.98
Scarborough Late Harvest Semillon 2008 375ml **	1	14.51	14.51
Cookoothama Botrytis Semillon 2008 375ml	4	20.90	83.60
Sandalford Margaret River Riesling 2002 **	2	14.51	29.02
Brokenwood ILR Semillon 2004 **	2	31.81	63.62
Brokenwood ILR Semillon 2005 **	2	30.32	60.64
Voyager Sauvignon Blanc Semillon 2012	8	19.70	157.60
Ninth Island Sauvignon Blanc 2012	1	12.88	12.88
Scarborough Yellow Label Chardonnay 2011	11	22.08	242.88
Toolangi Chardonnay 2010	4	23.48	93.92
Toolangi Denton Chardonnay 2009	8	27.27	218.16
Victoria Park Pinot Noir 2011	9	18.17	163.53
Coldstream Hills Pinot Noir 2011	2	28.35	56.70
Coldstream Hills Pinot Noir 2012	4	25.45	101.80
Toolangi Pinot Noir 2011	5	25.00	125.00
Fox Gordon 8 Uncles Shiraz 2011	1	13.63	13.63
Penfolds Bin 28 Kalimna 2011	6	29.08	174.48
Dandelion Vineyards Feurieu Cab Sauv 2011	7	13.63	95.41
Total	88		1,907.36

^{**} Wines purchased prior to 1 January 2013

Kirribilli House – Ceremonial and Hospitality Branch

Туре	Number	Value (\$) per bottle at time of acquisition (ex GST)	Total value (\$) (ex GST)
Croser 1998 **	3	34.51	103.53
Petaluma Chardonnay 2007 **	4	33.97	135.88
Petaluma Merlot 2004 **	4	43.11	172.44
Turkey Flats Shiraz 2006 **	3	33.72	101.16
Total	14		513.01

^{**} Wines purchased prior to 1 January 2013

d) Andrew Fisher Building – Ceremonial and Hospitality Branch

Type	Number	Value (\$) per bottle at time of acquisition (ex GST)	Total value (\$) (ex GST)
Yarrabank Vintage Cuvee 2005 **	4	27.35	109.40
Yarrabank Vintage Cuvee 2006	3	28.05	84.15
Yarrabank Vintage Cuvee 2004	2	26.15	52.30
Two Hands Brilliant Disguise Moscato 2009 Barossa Valley SA **	5	12.89	64.45
Margan Botrytis 2008 Botrytis Semillon Basket Pressed Hunter Valley NSW **	7	20.99	146.93
Shaw & Smith M3 Chardonnay 2008 Adelaide Hills SA **	3	29.08	87.24
Franklin Estate Riesling 2002 WA **	5	23.54	117.70
Seppelt Drumborg Riesling 2009 VIC **	6	24.17	145.02
Cullen Sauvignon Blanc 2009 Margaret River Western Australia **	2	25.45	50.90
Clonakilla Viognier 2006 Canberra District ACT	2	41.99	83.98
Penfolds Bin 311 Chardonnay 2008 Tumbarumba Adelaide Hills SA **	1	27.26	27.26
Penfolds Thomas Hyland Chardonnay 2010 Cool Climate Adelaide Hills SA **	5	14.54	72.70
Spinifex Esprit 2007 Barossa Valley SA **	11	24.80	272.80
Pirramimma Stocks Hill Shiraz 2006 McLaren Vale **	5	13.99	69.95
Brands Laira Cabernet Merlot 2009 Coonawarra **	2	16.32	32.64
Moppity Hilltops Shiraz 2009 Young NSW **	2	15.88	31.76
O'Leary Walker Sauvignon Blanc 2008	10	14.17	141.70
Saltram Mamre Brook Barossa Shiraz 2006	13	20.45	334.75
Cape Mentelle Sauvignon Blanc Semillon 2012	6	18.90	113.40
Total	94		2,039.03

^{**} Wines purchased prior to 1 January 2013